



$$\begin{array}{ccccccc}
 & 1 & 5 & 10 & 10 & 5 & 1 \\
 & \swarrow & & \swarrow & & \swarrow & \\
 1 & 6 & 15 & 20 & 15 & 6 & 1
 \end{array}$$

ex:  $(\underline{3x} + \underline{2})^4 = 1(3x)^4 \cdot 2^0 + 4(3x)^3 \cdot 2^1 + 6(3x)^2 \cdot 2^2 + 4(3x)^1 \cdot 2^3 + 1(3x)^0 \cdot 2^4$

$$= 1 \cdot 81x^4 \cdot 1 + 4 \cdot 27x^3 \cdot 2 + 6 \cdot 9x^2 \cdot 4 + 4 \cdot 3x \cdot 8 + 1 \cdot 1 \cdot 16$$

$$= 81x^4 + 216x^3 + 216x^2 + 96x + 16$$

Your turn:  $(5x+3)^3 = 1(5x)^3 \cdot 3^0 + 3(5x)^2 \cdot 3^1 + 3(5x)^1 \cdot 3^2 + 1(5x)^0 \cdot 3^3$

$$= 1 \cdot 125x^3 \cdot 1 + 3 \cdot 25x^2 \cdot 3 + 3 \cdot 5x \cdot 9 + 1 \cdot 1 \cdot 27$$

$$= 125x^3 + 225x^2 + 135x + 27$$

$$(4x - y)^5 = (4x + (-y))^5$$

$$= 1(4x)^5(-y)^0 + 5(4x)^4(-y)^1 + 10(4x)^3(-y)^2 + 10(4x)^2(-y)^3 + 5(4x)^1(-y)^4 + 1(4x)^0(-y)^5$$

$$= 1 \cdot 1024x^5 \cdot 1 + 5 \cdot 256x^4(-y) + 10 \cdot 64x^3y^2 + 10 \cdot 16x^2(-y^3) + 5 \cdot 4xy^4 + 1 \cdot 1(-y^5)$$

$$= 1024x^5 - 1280x^4y + 640x^3y^2 - 160x^2y^3 + 20xy^4 - y^5$$

p895 Use binomial theorem

15, 17, 18, 23